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Read the following article carefully, and then in your ANSWER BOOKLET
answer all the questions that follow. Your answers should be based on the article.

It is fascinating to observe the way language is absorbed by a baby. He or she quickly
learns to respond to certain sounds and words. Then, after a few months, the baby starts to try
out experimental noises and mimic sounds. A one-year-old baby can probably say a few
words — and certainly understands a lot more. After two years, many children have a
vocabulary of about fifty words.

With twins, however, the story might be a little different. First of all, their development is
sometimes slower. It is thought that this may bc because some twins have less one-to-one
interaction with adults than single babies have, and they spend more time communicating
with each other.

Secondly, some twins seem to develop their own language. While this is not very
common, it is certainly fascinating. They speak strange “words” and sounds that nobody else
can make out. This is known as “cryptophasia”. Certainly, what they say isn’t understood by

anyone else, but is it really a language?
It is tempting to believe that these twins really do make up their own secret language. Most

experts think that as both children are experimenting with language at the same time, and both
have been presented with the same sounds and stimuli since birth, they are very likely to

recognise what the other one says.
Question Number One (20 points)

A. 1. Twins language development is sometimes slower than single babies for two

reasons. Write down these two reasons. (4 points)
2. Find a word in the text which means "things that make you interested".
(2 points)
3. Quote the sentence which states that it is attractive and desirable to think that
twins create their own language. (2 points)
4. Babies go through different steps before they have a vocabulary of about fifty
words. Write down two of these steps. (2 points)
5. What does the underlined word "this" refer to? (2 points)
6. Raising and looking after twins may cause many difficulties to parents. Mention
three possible difficulties that parents may face. (3 points)
{SEE PAGE TWO} .. )
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7. It is said that twins who don't grow up in the same environment may develop
their language skills differently. Think of this statement and, in two sentences,

write down your point of view. (2 points)

B. Literature spot: (3 points)

Read the following lines from 4 Green Cornfield, then answer the questions that
follow:

And as I paused to hear his song
While swift the sunny moments slid,
Perhaps his mate sat listening long,

And listened longer than I did.

1. Why did the poet stop in the cornfield? (1 point)
2. How did time pass when the poet was listening to the skylark? (2 points)

Question Number Two: (15 points)

A. Choose the suitable item from those given in the box to complete each of the
following sentences. There are more words than you need. Write the answers
down in your ANSWER BOOKLET. (8 points)

LEARN 2 BE

makes a difference , track record , play it by ear , pensions , dietary

.......... to their employees when they retire,

.......... indicates that she has the needed experience for the required job.
3. Scientific evidence shows that some .......... supplements are beneficial for

health.
4, Taha's organized participation in the seminar .......... and activates everyone
there.
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B. Study the following sentence and answer the question that follows. Write the
answer down in your ANSWER BOOKLET. (3 points)

Majed is too nervous to do a parachute jump. I think that he will lose his
confidence at the last minute.

Replace the underlined phrase with the correct body idiom.
SEE PAGE THREE ...




PAGE THREE

C. Complete the following sentences with the suitable words derived from the
words in brackets and write the answers down in your ANSWER BOOKLET.

(4 points)

1. Services, mostly travel and tourism ............. the majority of our economy.
(dominant)
2. Khaled is a very ............. and adaptable worker, I believe that he can be
successful in any position. (competence)

Question Number Three: (13 points)
A. Correct the verbs between brackets then write your, answers down in your

ANSWER BOOKLET. OAWA2ENE T D)

1. Saleem and his brother spoke French in the conference, they? (do)
2. Mr. Tareq will ......... a more responsible post by the manager. (offer)

B. Complete each of the following items so that the new item has a similar
meaning to the one before it, and write it down in your ANSWER BOOKLET.

is (9 points)
1. Neither Maths nor Science are as popular as English.
English ....ovvvevieeeieeeee e . ,
2. Is there a connection between the amount of TV people watch and how fit %
they are? i
Doyouknow .......cccoeviiiuiiiiniiiiiii ?

3. Doing regular exercise is believed to reduce the risk of several diseases.
People believe that ............c.cocoiiiiiiiiiiiiie e :

Question Number Four: (7 points)

A. Read the following situations and rewrite the sentences using the words in |
brackets. Write the answers down in your ANSWER BOOKLET. (4 points)

1. Sami didn’t apply immediately for the scholarship, so he didn’t get it.
............................................................................. (if / could)

2. I regret living abroad for a long time.
............................................................................ . (wish)

B. Study the following sentence and answer the question that follows. (3 points)
We couldn’t go to the stadium since there weren’t any tickets left.

What is the function of using since in the above sentence?
SEE PAGE FOUR ...
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Question Number Five: "_(15 points)

A.EDITING (4 points)

Imagine you are an editor in the Jordan Times. You are asked to edit the
following lines that have four mistakes (one grammar mistake, one
punctuation mistake and two spelling mistakes). Find out these four mistakes
and correct them. Write the correct answers down in your ANSWER
BOOKLET.

Mr Khalid who is a career advisor believe that Biolojy and Chemistry are the
most important subjects for those who want to go on to study Dintistry at
university. Maths is not as important. but it is compulsory and he would
strongly recommend that they wcr),rk harder on this subject because they cannot

drop it.

LEARN 2 BE

B. GUIDED WRITING (4 points)

Read the information in the table below, and write two sentences comparing
and contrasting compulsory education in different countries.

Compulsory education in different countries
England 5 — 16 years
Jordan 6 — 16 years
Turkey 6 — 18 years
Japan 6 — 15 years

C. FREE WRITING (7 points)

In your ANSWER BOOKLET, write a composition of about 120 words on
ONE of the following:

1. There are a lot of risks associated with doing a new business abroad. Write an
article about the risks that people may face in doing business abroad, suggesting
solutions to manage these risks.

2. You receive the news that your town council is cancelling a bus route that you,
your family and friends use regularly. Write a letter to the town council to
persuade them not to cancel it. Explain why this will have negative effects on the

whole town.

(Your name is Wesam. Your address is P.O.Box 1646, Amman, Jordan)
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l Question Number One (20 points) .
i A. 1. (4 points, 2 points each)

|

|
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|

1- some twins have less one-to-one interaction with adults than single babies have.
2- they spend more time communicating with each other.
2. (2 points) stimulj

3. (2 points) AWS
It is tempting to believestathese twins really do make up their own secret language.
4. (2 points, 1 point each ) Any two of the following:
1- He or she quickly learns to respond to certain sounds and words.

2- Then, after a few months, the baby starts to try out experimental noises and mimic
sounds.

3- A one-year-old baby can probably say a few words — and certainly understands a lot
more.

5.. (2 points) some twins develop their own language
6. (3 points, 1 point each) Any acceptable answer.
7. (2 points) Any acceptable answer.

B. 1. to hear the song (1 point)
2. It passed fast (2 points)

Question Number Two: (15 points)
A. (8 points, 2 points each)

1. pensions 2. track record 3. dietary 4. makes a difference
" B. (3 points)

Get cold feet

C. (4 points, 2 points each)
1. dominate 2. competent
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Question Number Three: (13 points)
A. (4 points, 2 points each)

1. didn't 2. will be offered

B. (9 points, 3 points each)
‘1. English is more popular than Maths and Science.

2. Do you know if / whether there is a connection between the amount of TV
people watch and how fit they are.

Question Number Four: (7 points)

A. (4 points, 2 pomts each)
1. If Sami had applied immediately for the scholarship, he could have got it.
2. I wish I hadn't lived abroad.

B. (3 points) WAWAZ2EL

Showing cause / Explain the reason for something.

’ 3. People believe that doing regular exercise reduces the risk of several diseases.

Question Number Five: (15 points)
A. (4 points, 1 point each)

1. believes 2. Biology 3. Dentistry 4. ,butitis
B. (4 points)
Marking scheme:
4 comprehensive information with appropriate hnkmg words,
’c'::/'”“""ﬁ"

without spelling mistakes
3-2 |accepmble level “of communicating the ideas with some
grammatical and spelling mistakes

1-0 | miscommunication of the ideas, a lot of grammatical and spelling

mistakes

l C. (7 points)
Open answer

1o




Writing: suggested marki

( summary scale)

ng instructions

Ideas Structure Scale
v.good ideas v.good str. 6-7
Good ideas Good str. 5-6
Partially good ideas Good str. 4-5
Good ideas Partially good str. 4
Fail/partial ideas Poor str. 3
Very poor but with some Very poor str. 2-3
relevant ideas
Title/layout One/two good sentences | 1
Irrelevant ideas _ , Irrelevant str. 0
Criterion/level “CONtENt™™ " | Organization and vocabulary language
mechanics
Very good -complete - well-organized -demonstrate a - mostly accurate
realization of the | -clear, coherent wide range of -few mistakes
task -mechanics of vocabulary -communication
-relevant writing are well- -effective use of isn't impeded
-communicative observed word choice,
idioms,...etc.
Good -noticeable -organized -reasonable use -occasional errors
fluency -ideas are of vocabulary to -no global errors
-mostly relevant partially clear and | convey a message | -a good use of
-message can be | coherent sentence
understood -shows a construction
reasonable use of
writing mechanics
Acceptable - no complete -loosely organized | - limited range of | - frequent
realization of task | -no noticeable vocabulary grammatical
-lack of ideas coherence -no effective use | errors
-not -frequent errors of vocabulary to -use of one
communicative in the mechanics | convey a message | straight pattern
but meaning is
conveyed
Poor ( Fail) -irrelevant ideas | - disconnected - little use of - global
-not ideas vocabulary grammatical
communicative -not organized -vocabulary are errors
~no conveyed -no use of writing | insufficient to -no mastery of
mechanics convey meaning sentence

message

structure




H4 i . e o .
NCASEEECEE A R S =

e
S pomt Wwile B ds wonoo ‘Q"“d“"‘“ﬁ' cdde) DS 4y ¥
/,_,,y—j-"’"""’ i y . > .

oS PNl weprshe
25)0/"7,4" -~

o, =S V3] %
1 =S V5) -
melC $""*"“Lg
\‘c\,\ "i -
IS ) & experimen
D o PV\O\&"C_S

I 1S “:‘5 st -8
A-e\ie\o??,ﬂ e oW \O_V\&Mgg
T Sam‘\v@ A.ea\ld_g ‘

.

L . LSeCé*A*\cj' o
ci_c-%"_f*_;’-:
c‘;—/\:_ﬁ-;ep d))\J;,.,_J‘ LS @D - R

LEARN 2 BE o s
o s )
< u;m){ _J‘ -::,‘L/ e ) ‘c—-é

G oaplocer bt 2P o ¢ e
Dosp s b doah s 20
_cep a Compebibive oF VS & ST T
’ 4 ) ﬁ ,\_&)&,} d’_;__)‘
U 13 @
;)'za),e/;@» cenp did ik ey oS » O

) G

boel rens V5v O
Al ¢y o—e—\V & be @
M &9):\,“ MQ\’% bl LT

VLR ) 2 0“&@6

will e bei\\«ﬁ offerd, [ — W hae bee

DH’M/&C(I
Cop)esip o) DE N o 228 Loy g



@:/"p ;/},Q 9 & ; ;/A\:_J\ ay3 i

5 Q)\; c»._S‘f"rQ {_s rviove P“f’vJ"M G Y2y @E

e |
- Ao B

v
hd 5s5€&§'/

4 \ \ ~—
4 1.0 V5
. (\‘///J) W S 43 s M
) | ¥
oS N
f - a2\ \ \’&S»Me.f :
\i‘/ o i \f‘ 7D Y*Q&_\,\CC, w 2 ‘ . ﬁ

o o
o : '_ o > {‘égl\mceOQ u‘g =

E f’ SG\V\'\\ \fla&\r\\ Qm o

J
C‘Dwk& v\i Voure %e\' k:\*

Yol ompls Lt =

(_/—DJ\ Iy s ]

_— T
) " .
1 5 - \ S _ J \’_'? |
(o 9§A,,C—)/L,,’>:) . 5{ Z/“'{f)//(/ w{d’/} }:DS \

M"’“’ rw{jd/w—? L0.p ) e AE LS \Sv- R
‘/' @Lﬂ SRS

~ - | f P
/j%’ -2 CA,CS% 432/0\99\ TM\ Yoy -

T

- J



